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The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test

IR I IRAH & FHaIU-gs 97 Y FE-TE & R e qe @ S99 IR
s, are= L averr wliandt s odfen @ dRm s REr s

Do not write your Roll No. OR Name inside the Question-booklet,
e GRTHr ® =T orgay Ay wed AFHAE T e |

There shall be no crasing or overwrifing in the answers givery on the Answer Sheel,
in which case such answers shall be deemed as incorrect.

-9 u¥ By 7y Yoierm o=l o B @ aefl B e uge wd sen e,
Fle Ty feufe & afafer 3o @ srgps W9 fovm ST |

Use of log tables or calculators is not permitted.

QTR At T v A TmE 7 e 78 B

Yo candidate will be permitted to enter the Examination Hall after the expiry
of 30 minutes from the commencement of the Entrance Test.
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TE E snaEett

No candidate will be permitted to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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Candidate will not bring any loose paper, whether written or blank, inside the
Examination Hall except the Admit Card.
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Candidates using any kind of unfair means OR attempting to cause disturbances Iinl_thc
Examination Hall shall be lable to be expelled from the Examination and his/her
performance in the Test will he cancelled.
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SCHOOL ENTRANCE TEST, 2017

CLASS : IX
HE : IX
Time : Two Hours | [ Maxtmum Marks : 100
qqq : & g92] [ g% : 100

IMPORTANT

Feaw 9v RU T Wwﬁwwﬁﬁﬁqﬂgﬁwwi@
Gﬁ?ﬂﬁ?ﬁ?ﬁﬂjﬁ?ﬁ?ﬁﬁv

1. What should be subtracted from —% to get ; ?

%mﬁaﬁﬁ%%ﬂ_zﬁwml qife ?

11 13 5 17
) =5 2 —5 Bl =g B =

2. If(2°°'1+10)+7 =6, then x =
g (29 1 10)+7=6, a9 x=
(1] -2 (2) 2 (3) 1 (1) 0

(3) P.T.0
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3. Which of the following number is not a perfect square ?
Frferfas ® f= o e gof ot 7@ R 7

(1) 961 (2) 1444 (3) 2222 (4} 3136

4. Ifa-b=7and ab=9, then a” +h? =
A& a-b=7 R ab=9, T a’+p° =
(1) 67 (2) 31 3] 40 (4) 58
5. The present age of Sahil's mother is three times the present age of

Sahil. After 5 years their ages will add to 66 years. The present
age of Sahil is :

(1} 13 years (2) 14 years
(3) 15 years (4) 16 years

AR 1 A % adwe A iR F AduE ey @ T ¥ S
aﬁaﬁﬁﬁqﬁaﬂﬂﬂﬁmﬁaaﬁﬂwﬁlﬂﬁ%ﬁ?ﬁmﬁ

(1) 13 ad : (2) 14 7
@) 15 a9 () 16
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6. The denominator of a rational number is greater than its

numerator by 8. lf numerator is increased by 17 and denominator
is decreased by_ 1, the number obtained is g The raticnal number
is :

TH URET HEr F el 30D ofw ¥ 8 affew ¥ AR siw A 17 s

ﬁmmﬁm*ﬁﬁlwﬁmmaﬁaﬂ%w@m%mﬁ
oRAg Her T

u 17 15 13

7. A shopkeeper sells a book for ¥ 100, gaining ¥ 20, His gain percent

is :
(1) 20% (2) 22%
(3) 25% (4) None of these

T HEMSR o % e £ 100 § 393 g T 20 7 @ oF T 2

(1) 20% (2) 22%
(3) 25% 4) ¥4 & F1 Td

(5) P.T.0
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8. The compound interest on ¥ 4,000 at 10% per annum for 2 years

10.

3 months, compounded annually, will be :

% 4,000 & amghg @ 2 a¥ 3 7 % R 10% & X |, S=iE
=S g daifsra g &, B ¢

(1) T961 (2) 2916 (3) 7900 (4) T 896

6 pipes can fill a tank in 1 hour 24 minutes. 7. pipes can fill the
same tank in :

1) 60 minutes (2) 66 minutes

(3} 72 minutes (4} 78 minutes

Y

ah Y 47 6 GET 1 HeT 24 faee # wT @wa B 7 OSY 39 I
7 d@hd &

(1) 60 fam= (2) 66 e |
(3) 72 < # (4) 78 firre

To complete a work, A takes 50% more time than B. If together
they takes 18 days to comnplete the work, then B takes the time to

do the work in :
(1) 30 days (2) 35 days (3] 40 days {(4) 45 days

AE!_?EEEET-Iﬁg\ﬂﬂ?@fﬂﬁﬁ@ﬁﬁSU%ﬂmWW%iﬂﬁ
S5 uw G Freee 38 A A gu B # 18 T a8, v b
mmwﬁg{raﬁ%ﬁmwaﬂm?

(1) 30 fA (2) 35 & (3) 40 f&A (4) 45 fe=

(6)
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The base of a triangle is four times its height and its area is 50
square meter, The length of the base is :

(1) 5m (2) 10m (3) 15m (4) 20m

T BT 1 STER S S @ u} T § M dmme 50 @
B ) A & et B

(1) 57 2) 104" (3) 154t (4) 20 =

The ratio of radii of two cylinders is 2 : 3 and the ratio of their
height is 5 : 3. The ratio of their volumes will be :

3T &P gl St B BTl ar a2 3 Y ol st Sensd
F ST 5: 3 %t IS G W I EF

(1) 27:20  (2) 20:27 (3) 9:4 @) 4:9

One card is drawn from a well-shuffled deck of 52 cards.
Calculate the probability that the card will be an ace

e TER A B T 52 UNi $ U gl d O o 9o Byemr S
€| 98 U OF R0 I SHE Wi @ ilee o

1 12 1 3
l L r oy 3 e 4 —
0 - @ = B 4 “ -
The equation representing the y axis is
y A F v g B
(1) x=0 (2) y=0 (3) x=a 4 y=na

(7) P.T.0
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15. On dividing 10x* +17x” -62x? + 30x -3 by 2x* + 7x -1, gives the

16.

17.

18.

quotient.

10xY 1175 62x2 1 30% -2 & 2x°+Tx—1 A 9T 3H 97 APTHH
HTAT % ;

{1} 5x*-9x-3 (2) 5x*-9x+3

(3) 5x%+9x+3 (4) 5x%+9x-3

The angles of a pentagon are x’,{x +20),(x + 40}, (x + 60)" and
{x +80)°. The smallest angle of the pentagon is :

uh das & A x0,(x+ 200, (x+ 40), (x + 60)° T (x+80) T
HET B HEE BYer @i E

(1. B (2] 78’ (3) 75° (4) 68°

Water is pouring into a cuboidal reservoir at the rate of 60 litres
per minute, If the volume of reservoir is 108 cubic meter, then
number of hours to fill the reservoir is :

oF Fe B ovEr 60 dey ufy fome g | udl P v B oAl
*ﬁﬂwmaaﬁrﬁo?waﬁﬁmﬁﬁvﬁaﬁaﬁqﬁ
Hem B o

(1) 18 (2) 180 {3) 30 (4) 300
[fx+-—ﬂ=x”b,i.h¢:nx.'—
a-b a+bh
x+b x-b
= ,'_‘ﬁ'}f:
Ilﬁ' a-b a-+b
(1] a 2) -a (3) b (4) -b
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A road roller takes 750 complete revolution to more once over
to level a road. If the diameter of road roller is 84 cm and length is
1 m, then area of the road is :

(1) 396m® (2) 3960m? (3) 198m? (4 1980 m?

T SR gEA & R 750 gt @ usd € alk gsd et @
rE 80 {1 Y wg 1M &, d) "% %1 &5 P

(1) 3967  (2) 3960+ (3 198 (4 1980

A boat goes some distance in upstream in 6 hours and covers

‘the same distance in downstream in 4 hours. If the speed of stream

15 3 Km/hr, then the distance is :
(1) 60 Km (2) 72 Km (3) 90 Km (4) 108 Km
T AE FB T 9T F g 6 92 F 9t ¥ oo wAm &t &t

i B ATE 4 9 F ag I ¥ AR uro # w3 B g,
ﬁai‘ﬁa’iﬁ%

(1) 60 fFdt (2) 72 fFd (3) 90 i (4) 108 fRd

A fertilizer is ;

(1) human waste and plant residues
{2) an inorganic salt

(3) which can be prepared in fields

(4] provides a lot of humus to the soil

() P.T.0O
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U FHYE £

(1) 9= caferse ud a9y arEay
(2) U AFEE

(3) o1 7F =] § g9rm o Jdan B

(4) FEHzd =1 oo ey g HeET ©

Fermentation was discovered by :
{1} Louis Pasteur (2} Alexander Fleming
(3) Edward Jenner (4) None of these

frmge (@) @1 Qe s gra # o) ?

(1) TF gree (2) udEFAST wRfET
(3) Tsad Y (4) T o FE A

Tuberculosis is caused by microorganism :

(1) Virus (2) Bacteria

(3] Protozoa (4) None of these
s AR o ) - P AR BT B

(1) foro (2) STy

3] e 4) 14 8 BE T2

{10}
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Which of the following type of waste is non-biodegradable ?
{1} Peels of vegetable and fruits

(2) Paper

(3) Cotton cloth

(4] Plastic bags

e | | SHi-81 sl iR srEifsiEew ¥ 7

(1) - wfeorat oF wat & foas

(2) /A

(3) T UL

(4) weeE T

Which of the following can be beaten into thin sheets ?

(1) Zinc (2] Phosphorus

(3) Sulphur (4} Oxygen

=1 # Fra-wn goelt 98T $ w9 #§ dfer o gear 8 7
(1) =& (2) BERRE
(3} TeEm (4) S

Rusting of iron is due to :
{1} Oxidation (2) Reduction
(3] Heat-treatment (4) Metallization

(11) P.T.O.
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27.

28.

e & AEl = #9798 &
(1) STeRdTET (2) Rewem

(3) S Y=Y (4) wdERTaT

Which of the following is inexhaustible natural resource ?

(1) Coal (2) Petroleum
{3) Natural gas (4] Sun light
F=1 | 8 SI-81 o9 uTeptos HEeE g 7

(1} e (2) Ugiferas

(3) gwnfers T (4) T4 F T

Which of the following is the least polluting fuel ?

(1) Petrol
(2] Diesel
(3] Coal

{3) CNG (Compressed Natural Gas)
e 7 - gEes vgyl S g uE B 7
(1) Yt
(2} |
(3) Il
(@) o udo sfto (ddiiEa urpfas 74)
(12)
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In a candle flame, the outer zone of complete combustion, which

is blue is :
(1) Moderately hot (2)
(3] The least hot [4]

The hottest

None of these

o AEh & @ &, gof g @ agg &=, o B Her @ S g

(1) nsﬁrr T (2)

(3) wgem wi (4)

Cork cells were first observed by :

(1) Robert Hooke 2)
(3) Tyndall (4)
Eib R ey O @ o
(1) = g% am 2)
@) fEsw = )

Cell wall is abhsent in -

(1) Plant cell @)
(3} Nucleus ' (4)
SirEETafy eguftys A9t 2

(1} a=reafq @fimmra & (2)
(3) fys # (4)

(13)

qaifys
T | FE 7E

Flemming

Newton

gRfEHT 3
=T BT

ﬂmima! cell

None of these

st Fifarmret
Y & i 72

P.T.0O,
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32. Which of the following is not part of female reproductive organ ?

(1} Ovaries (2) Fallopian tubes
.(3] Uterus (4) Sperm duct
=7 o B ufgenett & srr-d= @ 9FT FF g 7

(1) sfeTera (2) SfIET Zg=
(3) THITE (4)  dg-SRER

33. A female has :
(1) Two X chromosomes
2} Ome X and one Y chromosome
(3) Two Y chromosomes

(4) None of these

UE gfgw # & F o

(1} & X @raErd (2) WE X T U Y
(3) &Y W (4) zH q &F TEl

34. Porters place on their heads a round piece of cloth because :
(1} Pressure on their head is increased by doing so
(2) Pressure on their head is reduced by doing so

(3) They decrease the area of contact of the load with their head

(4) None of these

(14)
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el S+ T8 97 w9 = Aen wEd e

(1) U® % § 39% A7 9T gF o8 ol &

(2) ﬁwaﬁﬁa—r@ﬁﬁ?tﬁmm-m%l

(3) @ WX @ YA FOT B wys She He E
(4) ¥ | Hi T

In the figure shown, angle of incidence is :

incident ray reflected ray

SN T T S S L i S S S i

(1) 30° (2) 60° . (3) 90° (4} Zero degree

e & e § snuae @i

R T 2J NHCIGG B E e

T G S A Sl B G SR A 4 £ o S S s

(1) 30° (2) 60° (3) 90° (4) g feh

Loudness of sound depends on :
(1) Its amplitude (2) Frequency

(3) Wavelength (4} None of these

(15) P.T.O.
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¥ @l wEeeT MY w2

(1) 5% W Yo (2) omgf 9%
(3) aGE=t 9y (4) =T @ B =

37. A coating of zinc is deposited on iron :
(1) to protect it from corrosion and fermation of rust
(2) to make it hard

(3} to make it brittle

(4) to make it drectile

&g gy 3 5t v qxd el el 2

(1) 28§ 77 & gar! & ow g 979 8 999 & fao
(2) 30 ®mer g B

(3) 8 R aqF § R

(4} =W FES g4 F

38. In a Braille system there are :

(1} 26 characters (2) 36 characters |
(3] 63 characters (4) 3 characters
g gafa & 9

(1) 26 37e7¢ 20 & (2} 36 AT B ¥
(3] 63 ML BNl ¥ 4) 5w Bl 8

(16)
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Which of the following planets is nearest to the Sun ?

(1) Neptune (2} Jupiter {3) Mercury (4} Pluto
P & & B9-87 98 g8 & adiuey 7

(1) == (2) gewir  (3) v (4) 2

Lightning conductors are uised to protect from the effect of :

(1) Rain (2) Storm (3) Lightning (4) Flood
Hﬁﬁmmmﬁaﬁﬁﬁmwéﬁ%?
(1) ot (2) o= (3) @I @) =%

YO OXRT B e GE Wi, Hem B o At wr e - g ofe &
FA-TT FAABR & ?

(1) o9% 2) 8y (3 ofwERR (4) S
‘T A= Hoaef B
(1) = (2) e (3) TR (4) ®H

I Rl AR Hfaar e Rt § 7
(1) SF=T 94q] &= (2) AT Tgae
3) Hewharer g (@) e Ris R

R o= 7 wag T
S (2} R (3) % @) &%
ey P.T.0
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45. ‘T’ W ST TEH o
(1) sl (2} drg (3) oirs (@) ==rs

46. ‘ydiza’ o a7 wig 7 7

(1) = i (2) TOT A
(3) T Hivy (4) afex afy

A7, t?an’rfrﬁgi‘c?ﬁw% :
(1) =it (2) #Th

@) e @) &

48. ‘Y TER 9= & watgaEl & 7
(1) =wast i (2) <7 @

(3) T = (4) @I =

49, Freeffim ¥ ¥ e o Fe el Y B AR A gy
(1) TER e # o R
(2) SO S @RS A AW EST
(3) TR I e e
(4) s e T

(18)
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g+ S H oEte A e w9

(1) =4+ (2) e (3) e (4) gardiA

A I8 Fga @ g 98 9 A C 9 HE ww @ 9 @l
IEETT B ?

(1) &= = (2) Tas am

(3) HIF ar (4) Hadaris g

Ffafas & § #-a7 oF sl o= & 7

(1) ot () T (3) S @) F%

sty w7 ety o & ¢

(1) urEE 2) [ (3) A9FRIT  (4) TEFEE

‘STEl IgET WA B - & R wh e e

(1} orm @ g 3) g™ (4) Prfm

‘BT 4T €T e - geEt 6 ofef B o

(1) == e asmeAm (Z}Wﬁmﬁﬂ

(3) = § S e 4) = A=

{19). P.TO.
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§6. ‘O I Al #EE H M - Uk FEEIT §
(1) Hem=? = (2) @i =

(3) THMH =l (4} TR

57, T=faiga & 4 S99 o aifas o & 9Em & 7
(1) D (2) @aa
(3) "= (4) TTH 9 HE Tl

58, ‘giz=r @ 9uibaEl 2o

(1) =9 (2) 9187 (3) =F=ETH [4) @l

§9. “wiemw arft uiEd, R oo g3 g
gt T T BT, ey, Jrhl, g9 117
T ARt § EIF-H ST 8 7

(1) e (2) THE (3) w9 (4) F=Hlia

60. ‘FT FHG H PFT-GT FWHR B 7

(1) =% - (2) = (3) I (4} STIHH

61. Fill in the blank with appropriate article :

THIB: I8 snsnmsmuen unusual problem that the government should
fight out.
(1} the 2) a (3} an 4} so
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What is the plural of the word KNIFE ?

(1) Knive (2] Knives {3) Knaves _[4] Knifes

Fill in the blank with appropriate preposition.
I have been studying in the school ................. the last five years.

(1) " since (2) about (3) for (4] around

Which of the following is a declarative sentence ?

(1) You are clever. (2) Are you busy ?

(3) Be careful (4) How clever he is !

Which of the following sentence is in present perfect continuous
tense ?

(1) Iam just planhing my strategy to play welil.

(2) We were facing challenges.

(3) They shali be performing tomorrow by this time.

(4} We have been rehearsing the play since January, 2017,

Fill in the blank with appropriate verb.
Sixteen miles .................. a long walk.

(1) are [2) is | (3] were (4 would

(21) P.T.0.
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67.

68.

69.

70.

71.

What is the synonym of the word-PROSCRIPTION ?
(1) Restriction (2) Suggestion

(3) Allowance (4) Premonition

Fill in blank with suitable phrasal verb.

The computer always ........coveeeean .

{1} Breaks down {2} Breaks up

(3} Breaksin (4) Breaks off
Which of the following is an interrogative pronoun ?
(1) Who (2) Some (3) Each (4)
Fill in the blank to complete the idiom.

AS YOUL SOW, SO .0oeviveenrones ;

{1} You may reap (2) You may carn
(2] You ghall earn (4] You shall reap
Which of the following word is correctly spelt ?

(1} Saccharin (2) Sakarin

(3) Sacharin (4) Saakrin

(22)

Her
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What is the adjective of the word — EXCEPTION ?
(1) Except (2) Excepsional

{3) Exceptional (4) Exceptionally

Identify the figure of speech used in the sentence : “He was as

brave as a lion."
(1} Metaphor | (2) Hyperbole

(3) Personification (4) Simile

What is the verb of the word - HEAP ?
(1) Heave (2) Heap

(3) Heapy (4] Heape

Choose the correctly spett word :
(1) acummulate (2) exaggerate

(3) arbétrary [4) sieze

The word 'landmark’ means the same as ;
(1) High place (2) Marker

(3) Hill top ' (4) Land lord
{23)

P.T.0.
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77,

78.

79,

80.

Don't touch this.

The passive voice of the above sentence 18 :
{1} You should not touch this.

(2) This doesn't be touched.

(3] This must not be touched.

4] You don't touch this.

'The man was absorbed .............. his work.’
Use the most suitable preposition from the following :
(1) at . (2) with

(3) in (4) into

He is like a snake in the grass for our family. The underlined

poriion means :
(1) aclose friend " (2) a distant relative

(3) a stupid person (4) a hidden enemy

Mark the xrfmngly spelt word :
{1} Luggage (2) Baggage
(3) Enggage (4) Savage

(24)
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81. Who was the founder of Mughal dynasty ?
(1) Akbar (2) Humayun
(3) Babur : (4) Chandragupta
I AEST B GENYE F o7 7
(1) oF=ReT (2} g
(3) sm=Y (4) ==qE

82, Who was the first Woman Chief Minister of Iindia 2

(1) Mayawati (2) Mamata Banerjee
(3) Jayalalitha (4) Sucheta Kriplani
RS @ 9oH afeen g g of ?

(1} HrEmEs (2) =war SR
(3) Tt (4) gIaT Fowr

83. The date when United Nations Organization was established -
(1) 20th December (2) 24th October
(3} 2nd January (4) 10th August
YR T GG B ooy A oy L
(1} 20 Ry (2} 24 srEFgER
{3 2sHaY (4) 10 srTey

{25)

o e
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84. Dadasaheb Phalke award is given in the field of :
{1] Sports (2) Education (3) Literature (4} Cinema
AETEEE R QYR 6 &9 & R e @ 7

(1) @ (2) Tarem (3) wfee (4) o

85. Which country has the biggest area ?
(1} Russia (2] China (3) India (4) Brazil
Asd g1 AFwa ma a9 B T 7

(1) =4 (2) =9 (3) «rE {4) ST

86. Which day is celebrated as the World Environment day ?
(1) 10th October (2} 1st March
(3) 5thJune (4) Sth September
fyga AT fgE B TR ART ¥
(1) 10 HAFIT (2) 17

{3} 594 (4) 5 T

87. Where is the memorial of Mahatma Gandhi ?

(1) Veer Bhumi (2) Rajghat

(3) Shakti Sthal (4] Shantivan

(26)



89.

e e ot @ wEiy 5w 7
(1) 4 ¥y (2) TErR
(3) iR (4} srifeEs

Which game is Japan's National Game ?
(1) Shooting (2) Judo {3) Foaotball
ST U @ S|y § 7

SET/17/19/IX/(iii)

(4) Basketball

(1) TRt (2) ==t (3) wedl (4) Ipeamm
When was East India Company established ?

{1) 1664 {2) 1600  {3) 1560 (4) 1700
S $fRar FuN # wae w5 e v

(1) 1664 (2) 1600 (3) 1560 (4y 1700
Who is called the Magician of Hockey ?

(1} Dhyan Chand (2) Milkha Singh

(3) Bishan Singh (4) Kapil Dev

BTl 1 R RE Fer o & 7

8) T Rie (4] T 29

(27)
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91. Bhakra dam is on which river ?
(1) Jhelum (2) Sutle;j (3) Ravi (4} Chenab
TSl Ay fepe @@t 97 S 1 8 7

(1) & (2) wdEsT (3) T (4) fore

92, ‘-thr:f: is Jim Corbett Wild Life Sanctuary located ?
(1) Odisha (2} Goa
(3] Meghalaya {(4) Uttarakhand
BT Fide a1 o VAR 4el B 7
(1) aT2Sten (2) TrEr

(3] Ty (4) FEOEs

93. Which Indian State has highest female sex ratio ?
(1) Uttar Pradesh (2) Kerala
(3) Mizoram (4) Punjab
aaﬁémqﬁﬁeﬁﬁ*ﬁﬂjf{rﬁﬂﬂﬁfﬁﬁﬁﬂwﬁ%?
(1) oEC R (2} F
3) P (4) GeTE

(28)
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95.

96.

97.

SET/17/19/IX/ (iii)

Which is the brightest planet in our solar system ?
(1) Venus (2] Mercury (3) Jupiter
TR GR AYSH B GaiE S o7 fe-ar & 7
(1) I (2) 9w @) I5

What is the currency of Bangladesh ?

{1) Dollar (2) Dinar (3) Taka
IR B AT 1 R q T 7
(1) TR (2) @R (3) =

What is the tenure of Indian President ?
(1) 5 years (2) 3 years (3) 4 years
ART H iy 1 HrRfEE feaar 2 § 7

(1) 5 9 (2) 3 &= (3) 4 &«

Which city is called the pink city of India ?

(1) Jodhpur (2) Bikaner (3) Jaipur
R 8T B A R Te way I D

(1) sirege (2) dwEY (3) STIyR

(29)

{4) Neptune

(4) =g

(4) Rubal

(4) TS

{4) 6 vears

(4) 6 =

(4) Bhilwada

(4) siaErgT

P10
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98.

99.

100.

Who is a Sarpanch ?
(1) Head of the Family
{2} Head Master

(3) Post Master

(4} Head of the Village Panchayat

(1) af=m %1 giEa (2) HETSTEATIER

(3) BTFET HT HiE (4) AW deraT B gREm

Who raised the slogan, "Freedom is my birth right and I shall have
it

(1) Lala Lajpat Rai (2} Bal Gangadhar Tilak

(3} Vipin Chandra Pal (4) Subhash Chandra Bose

AT U SrElE g ® ool § g S gm” W Aa
ey fomm 7

(1} && @A TH (2) e A REE

(3) Fftm = E (4) g F= 94

Where the central office of the Reserve Bank of India is located ?
(1) Kolkata  (2) Chennai (3) Mumbai (4] Delhi
Rord % offs gfEar @ S A el & 7

(1) @t (2) A=TR (3) H=d (4) feeelt



